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Fry Sight Words 2

- Choose the correct answer for each question:

1. He is going to spend his to buy a new car.

Q) step b) covered C) money d) red
2. Mary has the driving test, so she is going to
celebrate.
a)covered b)five c) toward d)passed
3. She wakes up early every because she is in online
classes.
a)toward b)morning €] reck d) products

4. Ana has started to decorate her wall following a

a)toward b) pattern C) rock d) whole
9. My sister has invested to buy her house.
ajmoney b) better c¢)rock d) however

6. My father has written a in the message.
a)whole b )numeral c) listen djwind

7. The is broken because it was old.
a)however b) space c) toble dimoney
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8. She is looking at the because her cat escaped.
a) north b) across c) today d)during

?. We looked toward the

star in the sky.

a)hold b)early c) rock d)north
10. She walked to the kitchen to take some
chocolates.
Q) slowly b) several c) morning d) waves
1. My mother will receive because she has sold her
G
a)fast b) whole c) money  d)wind
12. He is walking than her because his leg is hurt.
a) slowly b) question c) early d) measure
13. The Is incorrect so we have to correct the set of
numbers.

a)toward b) pattern c) ship d) himself



